YpaBHeHUs B HEJIbIX YUCIaX. JTOOABKA
S35 14 =2
S 27 459 463 = 2!
L 44T =2
L2 43— T =2
S 45 45 =15
S 2% 45V 419 = 30°
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YpaBHeHUs B IIeJIbIX YHCJIaX. J00aBKa
S35 4 14 =2
.27 4 5Y 4 63 = 2!
L2743V 4T =2
243 T =z
L2745V 45 =15
.27 4 5Y 4+ 19 = 30°

S4B+l =6"

YpaBHeHHUs B IeJIBIX YNCJIaX. JOOABKA
S35 414 = 2
274 5 463 = 2
2T 4347 =2
L2 T =2
2745+ 5= 15
.27+ 5 +19 = 30

21 =6"

ypaBHeHI/IH B IIeJIbIX YHMCJIaX

L3414 =2

. 27457 +63 = 2!

244+ T =2
2P T =12l
L2+ 5 +5 =157

L2+ 5 +19 =307

L U

ypaBHeHI/ISI B IeJIbIX 9HCJIaX

S35 4 14 = 2!
.27 45Y 4 63 = z!
273V 4T =2
23— T =z
L2745V 45 =15
.27 4 5Y 4+ 19 = 30°
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